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Instructions to Candidate

* There are EIGHT questions. Candidate has to attempt FIVE questions in all.

* Question no. 1 and 5 are compulsory and out of the remaining, THREE are to be attempted.

.* _ Answers must be written in the medium authorized in the Admission certificate which must
be stated clearly on the cover of this Question-cum-Answer (QCA) booklet in the space

provided. No marks will be given for answers written in medium other than the authorized
one.

* Word limit in questions, wherever specified, should be adhered to.
* Attempts of questions shall be counted in chronological order. Unless struck off, attempt of

a question shall be counted even if attempted partly. Any page or portion of the page left
blank in the answer book must be clearly struck off.
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SECTION-A
Attempt all questions:
1. Answer the following questions in about 150 words each:
(a) Discuss Plato's theory of justice
(b) Aristotle on Government & its Classification
(c) Hebbesian Social Contract.
(d) Discuss M.N. Roy's concept of Radical Humanism.

(e) Sex is to Nature as Gender is to_Culture. Comment.
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2. Answer the following questions:
(a) Discuss Gandhian conception of citizenship. (250 Words) (20)

(b) Plato’s theory of communism of families was a logical corollary of his views on
communism of property. Comment. (200 Words) (15)

(c) Discuss the relationship between Ethics and politics as per views of Aristotle.
(200 Words) (15)
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3.

Answer the following questions:

(a)

(b)

Discuss Aristotle's Theory of Justice. Also compare the notion of justice as given by
Plato and Aristotle. (300 Words) (25)

“Power is never localised here or there, but rather employed and exercised through
a net-like organisation” (Foucault). Comment. (300 Words) (25)
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Answer the following questions:

(a) The basic cause of human misery and the ‘sin’ of modern civilisation is the advent

of technology and industrialisation. Discuss the Gandhian critique of Industrialisation.
(300 Words) (25)

(b) “Covenants without the sword are mere words and of no strength to secure a man
(300 Words) (25)

at all”. -Comment.
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(a)
(b)
(c)
(d)

(@

Attempt all questions:

5. Answer the following questions in about 150 words each: (12.5 x 4 = 50)

t 8

SECTION-B

Theory of Alienation and Theory of Freedom
Arendt's Views on Banality of Evil
Locke on Defense of Property Rights

Discuss then characteristic features of Aristotle's theory of state.
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6. Answer the following questions:

(a) Examine the similarities and Dissimilarities between Gandhi and Marx.
(250 Words) (20)

(b) Analyse how Gramcian views have influenced the Marxian views on false
consciousness. (200 Words) (15)

(c) The state of nature is a war of every man against every man. In the light of the given
statement, discuss Hobbesian of Nature. Also Give Criticism.
' i (200 Words) (15)
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7. Answer the following questions:

(a) Aristotle's theory of property is based on his criticism of Plato's communism of
property. Comment. (300 Words) (25)

(b) Owing to the sexual division of labour, the burden of unpaid work falls
disproportionately on women. There has been near-universal adoption of work-from-
home (WFH) in light of the COVID-19 pandemic. In the light of the given statement,
examine the impact of WFH on women. : (300 Words) (25)
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8.

Answer the following questions:

(a)

(b)

The theories of non- interference were found to be inadequate to achieve the social
and economic reforms of classical liberalism. Examine the problems associated with
classical liberalism. Also explain how does Positive Liberalism justifies the values
of distributive justice. (300 Words) (25)

Modernity is characterized by the loss of the world, where the past no longer carries
any certainty of evaluation. In the light of given statement, Analyse Arendt's

Conception of Modernity. Also criticise Arendt's interpretation of modernity.
(300 Words) (25)
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